Use your calculator to find the value
of each to the nearest hundredth.

The Reciprocal Trig Functions

Section 13-8:
Cotangent: Cotp = —L__ — % - X _ Cost Cos(131°)=-0.66 g
Tano ¥ Y sing Tan —7-=1.34
Secant: sect = 1 - 1 Csc(-75°)=-1.04
cost/ X , '
= sinf-5%) sl
Cot — =-0.69
Cosecant: €SCH = .1 - Sec 14 =7.31 i
Sln(-) y radians (no degree symbol) = —
) | Tan _TL’?
= oS

Use the Unit Circle to find the EXACT value of each. Use the Unit Circle to find the EXACT value of each.
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Given that Cosx = —— _AbT Given that Cscx = ——

WP
Evaluate the other five trig functions. éationalize all'denominators as needed Evaluate the other five trig functions. Rationalize all denominators as needed
and simplify fractions. (0 | and simplify fractions.
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You can now finish Hwk #22 Sec 13-8

Page 766  Problems 2-4, 9-14
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